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1. Write the answers to the following

questions : 1x7=7
OEE RN ©ed Tl

(a) Give the 1st law of thermodynamics.

Sivleifs e aes qacst fai
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(b) Define the thermodynamic system.

(c)

(@)

(e)

Oioifs Reiag we g et |

What are ‘buffer solution’ ?

I i S

What happens when acetylene gas
passes through red hot iron tube ?

T AT Ve (FTZ TR ARDIBFH (olg AR
i & 9fbg 2

Name the product in IUPAC when
ethyl bromide is treated with Na-metal
in dry ether ?

S AT TR Hwaw rew Gice 2wz
RS R sika et Beom @1 G
N IUPAC “&few foi|

What happens when a secondary
alcohol passes through a heated
(300°C) Cu-tube ?

4 300°C (& € Cu-ed  SIteE
(GrPe e TR fiee & wfba e
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(g9 Write the molecular formula of
3-oxohexane.

3-SR IS TS oo ot |

2. Answer the following questions : 2x4=8

TER 2R s o ¢
(@) Why is acetic acid less acidic in

CH3COONa than in NaCl solution ?

e abT], CHy;COONa wde Sifsel
NaCl o3 & 02

(b) Define the adiabatic and isochoric
processes.

SRR R FTSReAy AfFmy Agw

(c) Write the Reimer-Tiemann’s reaction.

el Rt B

(d) What do you mean by Syl reaction ?
Give one example of it.

Sy1-Riea I & 3o 2 TR B! Taigd
el |
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3. Answer any three of the following :

5x3=15
o] [z fefaba Tes &4 ¢

(a) Discuss the Friedel-Crafts alkylation.
frreea-oigs et Rt a9 31 |

(b) What is Wittig reaction ? Discuss the
mechanism.

o Rfer & 2 afEnd 3@ =)

(c) Write the differences between Sy2 and
Syl reactions.

SN2 ®F Sy1 Rfemm sndepmz ot

(d) State and explain the zeroth law of
thermodynamics. Show that
Ca—Lu=1K.

- OiREERT e el iR g =
Cp— Cy=R #fogioH 3911

(e) Calculate the solubility of Mg(OH),
in mol L7}, if Kg, of Mg(OH), is
5x 10712 at 298K.
Mg(OH),-3 Ky, I WH 298K Tzeore
5x 10712 27, Mg(OH),-3 WIS Wai/
feibige e =t |
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4. Answer the following questions : 10x3=30
©o AR Te foral
(@l .-How-can 12, 2° and 3% alcohol be

distinguished by Victor Meyer’s test ?
10

$31 s wfemda|l 1°, 2° 9@ 3°
R A e [ sRka 2

Or /5141

(b) Show the method of preparation of
alkyl halide from the following :
2Y%2x4=10
SE SRERIMEES K S UG S e PR aic Ral:)
sRAl 2

(i) From methane
fSems o[
(i) From ethanol

AT Al

(iii) From propene

oo o[l

fiv) From chloro or bromoalkane
FI A IVGN| 2
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(c) How does carbonyl compound react
with ammonia derivatives ? Write the
mechanism of the reaction by giving
different examples. 10

GURIT Jeoime Fere wide e R[iEw
@ W0 2 R[fes Twme 1 @3 Rferas
fmifafa |

Or/q97
(d) Write the following reactions : 2x5=10
wote fral ey o 8

(i) Haloform reaction
e R

(i) Aldol condensation reaction
eI eitedw e

(i) Wolff-Kishner reduction
Tee- e feaa

(iv) Oppenauer oxidation

HLANSANR TRl
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(v)
€ ()

@)
n o

(©)

Diazotization reaction

oz R

Derive Gibbs-Helmholtz equation.
53

- (ETEE e elfeiar 31

Show that PV’ = constant. S

@YeqA @ PV = &< |
Or /92!

Mention the factors affecting
ionisation of electrolytes. Write
briefly on ‘buffer solution’. 5

Rge-ReT T AT FIFEE
T 90| AR TS KA v o

Derive Kirchhoff’s equation. 5

P AN T AT T4 |
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